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Read all the instruction for each question carefully before answering questions.

Question One:

Sakeena Ahmed deposited BD2,600 in a bank at 12% annually compounded
quarterly- Find future value at the end of 5 years and 9 months and find the
compound interest.
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Question Tow:

Find the future value that Saad will get if he saves BD2,000 in a bank for 10 years at
changing rate, as following: at 5% annually for the first 5 years, 4.6% .annually for
the sixth year and 5.25 % annually for the rest years?
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Question One;

Ahmed paid an annuity of BD400 at the end of each year for 7 years at an interest rate of
3% annually. Find the following:

a- Future value (amount) and interest at the end of the period.

b- Present value (amount) at the end of the period.
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Question Tow:

Sajeda deposits a sum of money at the beginning of each year at 4% annually and the
amount of annuity became BD1872.96 after 10 years.
What was the value of each annuity?
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Question One (A-b-c):
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Cash Flow Project A
Cost (Cash Outflow) BD20,000 |
Cash inflow year 1 BD6,000 \
Cash inflow year 2 BD6,000 l
Cash inflow year 3 BD6,000 |
Cash inflow year 4 BD6.000 J

A - Payback Period Method.

Projects A: (Fixed Cash Inflow):

...............................................................................................................
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20,000

b,000
b- Net Present Value Method.

Projects A: (Fixed Cash Inflow): h
e B SO L T | ey
0 -20,000 % (.68 P71 -10,000
1| 4000 LU 209269 | 5,868
2 6,000 x(l.og)*-0.572 5,143, 8
3 0lol0 X (1.09)°- 0.7138 47628

4 6,000 X(.08)" 0.#350 4410
Net present value (NPV) > VS
¢- Profitability Index Method,
il ) = e U000 o e G2 o LR oo

20, 000

By student: Qassim Hassan Almudaweb

-



lrack: Unified Page 5 NOTICE © The Amwnr ( ontaimﬁ l’agﬂ ]

Question One:

Abdulla Company expects to earn BD48,000 next year. Sales will be BID370.000, its
average product sells for BD74 per unit. The variable cost per unit is BDS0.
Required:

I8

oy

What are the company's fixed costs expected to be next year?
Calculate the company's break-even point in units and sales revenues for breah-even”

NMo..of . aimt... gelos = 510,000 _ 5po.0 units

Question Tow:

ABC Company sold a computer at BD20 per unit and it had variable cost BD 12 per unit.
The total annual fixed cost is BD160,000.
Required:

I- How many units must be sold to earn an operating income of BD40,000.
- Compute sale revenue needed to earn an operating income of BD40.000.

3- If the company sold 30.000 units, what would be the company’s profit or loss?
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Question One:

The balance sheet and income statement for MRG Company are as follows.

Balance Sheet BD 000 Income Statement BD 000
Cash 500 Net Sales (Revenues) 8.000
Account Receivable 2.000 - Cost of Goods Sold 3.200
[nventories i 1,000 Gross Profit 4,800
Currcnt Asscts 3,500 - Operating Expenses 800
Fixed Assets 4,500 Operating Income 4,000
Total Assets 8,000 Interest Expenses 1.000
Current Liabilities 2.000 Profits before taxes 3,000
Long-term debt 2,000 Tax (5%) ‘ 150
Owners’ Equity 4,000 Net Income 2,850
Tortal Liabilities and equity | 8,000
No Required
I | Gross profit margin% : 42000 X100 = £07

g, 000
2 Profit margin % == 31010108y l0o -3 F 5,

§,.000

3,500 _ ),000-1,500

J

Working Capital

4 Capital Employed. §,000.2,000-4000

Return on capital

5 0 3
employed z -_0%'7)260— x100= 507,
!
6 Current ratio. = _é_'.ia_o_ sl 1‘.‘v\e
2,000
. Acid test ratio (Quick ; 73‘500 1.000 AR N
Ratio). 2,000
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